
    InstructIons to candIdates

 1. The Question Paper will be given in the form of a Question Booklet. There will be four 
versions of Question Booklets with Question Booklet Alpha Code viz. a, B, c & d.

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet 
of the Question Booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in 
the Examination Hall.

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha 
Code in the seating position, please draw the attention of the Invigilator ImmEdIATEly.

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your 
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same 
Alpha Code.

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should 
not open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the  candidate should check that 
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The 
Question Booklet does not have unprinted or torn or missing pages and if so he/she should 
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha 
Code. This is most important.

 8. Question serial no. 1 to 80 are printed both in english and in tamil. doubts regarding 
the meaning and translation of Question serial no. 1 to 80 will be settled based on the 
Questions in english.

 9. Two blank pages are provided before the last page of this Question Paper for rough 
work.

 10. Please read carefully all the instructions on the reverse of the answer sheet before 
marking your answers.

 11. Each question is provided with four choices (a), (B), (c) and (d) having one correct answer. 
Choose the correct answer and darken the bubble corresponding to the question number 
using Blue or Black Ball Point Pen in the OmR Answer Sheet.

 12. each correct answer carries 1 mark and for each wrong answer 1/3 mark will be 
deducted. no negative mark for unattended questions.

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure 
that the Invigilator has verified all the entries in the Register Number Coding Sheet and 
that the Invigilator has affixed his/her signature in the space provided.

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any 
kind of malpractice in the Examination will result in the disqualification of the candidate.
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 1. match list – I with list – II and select the correct answer with the help of the code 
given below :

  List – I (author)  List – II (Work)
 a. Herman Gundert   i. Ribla
 b. Zainuddin makhdoom  ii. Itinerario
 c. ludovico di Varthema  iii. Kerala Pazhama
 d. Ibn Battuta   iv. Tuhfat ul-mujahideen
  code :
  a b c d
 A) ii iii i iv
 B) iv iii ii i
 C) iii iv ii i
 d) i iii iv ii

 2. Consider the following Social Reformers :
 i. Sree Narayana Guru
 ii. dr. Palpu
 iii. Kumaran Asan
 iv. T. K. madhavan

  Who of the above was/were actively associated with SNdP yogam ?
 A) Only i and ii   B) Only i
 C) Only i and iii   d) All of the above (i, ii, iii and iv)

 3. Usha mehta was related to
 A) Operated Secret Radio during Quit India movement
 B) A leader of Underground movement
 C) Joined Azad Hind Fauj
 d) led Salt Satyagraha at dharsana

 4. match list – I with list – II and select the correct answer with the help of the code 
given below :

  List – I (social reformers)  List – II (their association)
 a. Jyothi Rao Phule   i. Veera Saiva movement
 b. Viresalingam Pantalu   ii. Satya Shodhak Samaj
 c. Basava   iii. Seva Sadan
 d. G.K. devdhar and    iv. Raj mahendri Social
  mrs. Ramabai Ranade   Reform Association
  code :
  a b c d
 A) ii iv iii i
 B) i iv ii iii
 C) iv ii i iii
 d) ii iv i iii 
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 1. £mi¯À – I I £mi¯À  – II Ehß ö£õ¸zv, R÷Ç öPõkUP¨£mkÒÍ SÔ±miß 
EuÂ²hß \›¯õÚ £vø»z ÷uº¢öukUPÄ® :

  £mi¯À – I (B]›¯º)  £mi¯À – II (£o)
 a. öíº©ß Sshºm   i. ›¨»õ
 b. øáÝzwß ©Uy®   ii. CiöÚµõ›÷¯õ
 c. ¾÷hõÂ÷Põ i Áº÷u©õ iii. ÷PµÍõ £Ç©õ
 d. C¤ß £yuõ   iv. xðL£z EÀ&•áõîwß
  SÔ±k :
  a b c d
 A) ii iii i iv
 B) iv iii ii i
 C) iii iv ii i
 d) i iii iv ii

 2. ¤ßÁ¸® \‰P ^ºv¸zuÁõvPøÍU PÁÛ²[PÒ :
 i. ÿ |õµõ¯n S¸

 ii. dr. £À¦

 iii. S©µß B\õß
 iv. T. K. ©õuÁß

  ÷©ØTÔ¯ÁØÔÀ SNdP ÷¯õPzvß ö\¯À£õkPÐhß öuõhº¦øh¯Áº ¯õº ? 

 A) i ©ØÖ® ii ©mk®   B) i ©mk®

 C) i ©ØÖ® iii ©mk®   d) ÷©÷» EÒÍ AøÚzx®  (i, ii, iii ©ØÖ® iv)

 3. Eåõ ÷©zuõ CuÝhß öuõhº¦øh¯Áº

 A) öÁÒøÍ¯÷Ú öÁÎ÷¯Ö C¯UPzvß ÷£õx µP]¯ ÁõöÚõ¼ø¯ C¯UQ¯x

 B) {»zui C¯UPzvß uø»Áº 
 C) B\õz î¢z L÷£õä ÷\º¢uõº

 d) uºåÚzvÀ E¨¦ \zv¯õQµPzxUS uø»ø© uõ[QÚõº

 4. £mi¯À – I I £mi¯À – II Ehß ö£õ¸zv, R÷Ç öPõkUP¨£mkÒÍ SÔ±miß 
EuÂ²hß \›¯õÚ £vø»z ÷uº¢öukUPÄ® :

  £mi¯À – I (\‰P ^ºv¸zuÁõvPÒ)  £mi¯À – II (AÁºPÎß \[P®)
 a. ÷áõv µõÆ §÷»   i. Ãµ ø\Á C¯UP®

 b. Ã÷µ\¼[P® £õsx¾ ii. \z¯ ÷åõuU \©õä
 c. £\Áõ   iii. ÷\Áõ \uß
 d. â.÷P. ÷uÁuõº ©ØÖ®  iv. µõä ©÷P¢v› \‰P 
  v¸©v. µ©õ£õ´ µõÚ÷h   ̂ ºv¸zu \[P®
  SÔ±k  :
  a b c d
 A) ii iv iii i
 B) i iv ii iii
 C) iv ii i iii
 d) ii iv i iii 
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5. Which of the following is/are related to American War of Independence ?
i. divine Right Theory of Kingship
ii. Boston Protests
iii. Intolerable Acts

Select the correct answer using the code given below.
A) i and ii only   B) iii only 
C) ii and iii only   d) i, ii and iii

6. The present managing director of International monetary Fund (ImF)
A) Kristalina Georgieva   B) Camille Gutt
C) Antonio Guterres   d) dr. Tedros Adhanom Ghebreyesus

7. The volcanic pipe filled with breccia is exposed after prolonged erosion above the 
ground surface is called
A) Barrancas B) Volcanic Butte C) diatreme d) Tors

8. Consider the following statements regarding igneous rocks :
i. The rocks in terms of chemical and mineralogical characteristics texture of grains, 

forms and size of grains.
ii. The sediments and debris derived through the disintegration and decomposition of 

rocks.
iii. Rocks are include andesite, basalt, obsidian, pumice, rhyolite, scoria and tuff.
iv. They also possess mud-cracks and marks of ripples or waves.
A) i only B) i, ii only C) ii, iii only d) i, ii, iii only

9. match the following list – I and list – II :
List – I  List – II

1. Pedi Plain i. lawson
2. Pene Plain ii. Crickmay
3. Pan Plain iii. l. C. King
4. Pan Fan iv. W. m. davis

  code :
1 2 3 4

A) ii iv i iii
B) iii iv ii i
C) iv iii ii i
d) ii i iv iii

10. Allahabad-Haldia stretch of the Ganga-Bhagirathi-Hoogly is
A) National Waterway 3   B) National Waterway 2 
C) National Waterway 4   d) National Waterway 1
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5. ¤ßÁ¸ÁÚÁØÖÒ Gx Aö©›UP _u¢vµ¨ ÷£õ¸hß öuõhº¦øh¯x ?
i. iøÁß øµm v¯› BL¨ Q[æ¨
ii. ÷£õìhß Gvº¨¦PÒ
iii. \QUP •i¯õu \mh[PÒ

  R÷Ç öPõkUP¨£mkÒÍ SÔ±møh¨ £¯ß£kzv \›¯õÚ £vø»z 
÷uº¢öukUPÄ® :
A) i ©ØÖ® ii ©mk®   B) iii ©mk®    
C) ii ©ØÖ® iii ©mk®   d) i, ii ©ØÖ® iii

6. \ºÁ÷u\ |õn¯ {v¯zvß (ImF) uØ÷£õøu¯ {ºÁõP C¯USÚº
A) QÔìh¼Úõ áõºãÁõ 
B) PõªÀ Pm
C) Aß÷hõÛ÷¯õ Smhöµì 
d) dr. öhm÷µõì Auõ÷Úõ®  öP¨÷µ¯éì

7. ¨öµ]¯õÁõÀ {µ¨£¨£mh G›©ø»U SÇõ´, §ª°ß ÷©Ø£µ¨¤ØS ÷©÷» 
}sh Põ» A›¨¦US¨ ¤ÓS öÁÎ¨£k®  Cx ________________ GÚ 
AøÇUP¨£kQÓx.
A) £õµßPõì   B) KÀPõÛU £möh
C) h¯mŸ®  d) ÷hõºì

8. G›©ø»¨ £õøÓPÒ öuõhº£õÚ ¤ßÁ¸® AÔUøPPøÍU PÁÛ²[PÒ ? 
i. Qøµß, ÁiÁ[PÒ, E¸Á® QøµßPÎß AÍÄ BQ¯ÁØÔß Cµ\õ¯Ú ©ØÖ® 

PÛ©Â¯À £s¦PÎß Ai¨£øh°À £õøÓPÒ Aø©¯¨ö£Ö®.
ii. £õøÓPÎß ]øuÄ ©ØÖ® ]øuÂß ‰»® ö£Ó¨£mhøÁ ÁshÀ ©ØÖ® 

S¨ø£PÒ
iii. £õøÓPÎÀ Bsiø\m, £õ\õÀm, A¨]i¯ß, ¤³ªì, ›÷¯õø»m, ì÷Põ›¯õ 

©ØÖ® hL¨ BQ¯øÁ Ah[S®
iv. AøÁ ©s Â›\ÀPÒ ©ØÖ® ]ØÓø»PÒ AÀ»x Aø»PÎß ÁiÁ[PøÍ²® 

öPõskÒÍÚ
A) i ©mk® B) i, ii ©mk® C) ii, iii ©mk® d) i, ii, iii ©mk®

9. ¤ßÁ¸® £mi¯À – I ©ØÖ® £mi¯À – II BQ¯ÁØøÓ¨ ö£õ¸zuÄ®.
  £mi¯À – I  £mi¯À – II

1. ¥i ¨øÍß  i. »õ\ß
2. ÷£÷Ú ¨øÍß  ii. Q›U÷©
3. £õß ¨øÍß iii. l. C. Q[
4. £õß L÷£ß iv. W. m. ÷hÂì

  SÔ±k :
1 2 3 4

A) ii iv i iii
B) iii iv ii i
C) iv iii ii i
d) ii i iv iii

10. A»Põ£õz&P[øP°ß íÀi¯õ }m]&£õRµv&íýU¼
A) ÷u]¯ }ºÁÈ 3  B) ÷u]¯ }ºÁÈ 2 
C) ÷u]¯ }ºÁÈ 4  d) ÷u]¯ }ºÁÈ 1
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11. Pineapple Research Center is located at

A) Chengannur B) Aanakkayam C) Chalakkudy d) Vellanikkara

12. Which is the most polluted city in South India as per the Green Peace India’s Study 
Report ?

A) Puducherry B) Vijayawada C) Visakhapatnam d) Hyderabad

13. Which one of the following is an exempted income as per the Income Tax ?

A) Income from House property

B) Income earned through agricultural means

C) Interest from fixed deposit

d) Income earned through winning from lotteries

14. match the following Schemes and the Purpose :

  scheme Purpose

I. Project Insight A. To reduce physical interaction between  
tax payers and the department

II. Vivad Se Vishwas Scheme B. dedicated e-mail Id for tax payers to 
register their grievances

III. Samadhan C. To settle outstanding disputes

IV. Faceless Assessment Scheme d. An integrated platform created to leverage 
data received from various agencies

A) I – A, II – d, III – B, IV – C B) I – d, II – C, III – B, IV – A

C) I – A, II – C, III – d, IV – B d) I – d, II – C, III – A, IV – B

15. One of the following programmes/initiatives was not introduced during the sixth five-year 
plan. Which one is that ?
A) National Bank for Agriculture and Rural development
B) minimum Needs Programme
C) National Rural Employment Programme
d) Integrated Rural development Programme

16. The following are some of the statements related to the New Economic Reforms of India :

I. larger role for the private sector including foreign investment.

II. Shift to a more open economy with greater reliance upon market forces. 

III. Enhancing competition based upon more market orientation.

Which of the statement/s is/are correct ?

A) Only I is correct   B) Only II is correct

C) I and II are correct   d) I, II and III are correct
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11. ø£ßB¨¤Ò Bµõ´a] ø©¯® ____________ CÀ Aø©¢xÒÍx.
A) ö\[PÞº B) BnUP¯® C) \õ»USi d) öÁÒÍoUPµõ

12. QŸß ¥ì C¢v¯õÂß B´Ä AÔUøP°ß£i öußÛ¢v¯õÂÀ ªPÄ® ©õ_£mh 
|Pµ® Gx ?
A) ¦xa÷\› B) Âá¯Áõhõ C) Â\õP¨£miÚ® d) øíuµõ£õz

13. ¤ßÁ¸ÁÚÁØÔÀ Gx Á¸©õÚ Á›°ß£i Â»US AÎUP¨£mh Á¸©õÚ® ? 
A) Ãmka ö\õzv¼¸¢x Á¸©õÚ®
B) ÂÁ\õ¯zvß ‰»® QøhUS® Á¸©õÚ®
C) {ø»¯õÚ øÁ¨¦zöuõøP°¼¸¢x Á¸©õÚ®
d) »õmh›PÎÀ öÁØÔ ö£ÖÁuß ‰»® QøhUS® Á¸©õÚ®

14. ¤ßÁ¸® vmh[PøÍ²® ÷|õUPzøu²® ö£õ¸zuÄ®.
  vmh®   ÷|õUP®

I. vmh ~snÔÄ A. Á› ö\¾zx÷Áõº ©ØÖ® xøÓUS 
Cøh÷¯ öÁÎ¨¦Ó öuõhºø£ 
SøÓUP

II. ÂÁõz ÷\ ÂìÁõì vmh® B. Á› ö\¾zx÷Áõº u[PÒ SøÓPøÍ 
£vÄ ö\´¯ ¤µz÷¯P ªßÚg\À Id

III. \©õuõß C. {¾øÁ°À EÒÍ \ºaø\ø¯z 
wº¨£uØS

IV. •P©ØÓ ©v¨¥mkz vmh® d. £À÷ÁÖ Höáß]PÎhª¸¢x 
ö£Ó¨£mh uµÄPøÍ¨ £¯ß£kzx 
ÁuØPõP E¸ÁõUP¨£mh J¸ 
J¸[Qøn¢u uÍ®

A) I – A, II – d, III – B, IV – C B) I – d, II – C, III – B, IV – A
C) I – A, II – C, III – d, IV – B d) I – d, II – C, III – A, IV – B

15. BÓõÁx I¢uõskz vmhzvß ÷£õx ¤ßÁ¸® vmh[PÎÀ JßÖ 
AÔ•P¨£kzu¨£hÂÀø». Ax Gx ?
A) ÂÁ\õ¯® ©ØÖ® FµP ÁÍºa]UPõÚ ÷u]¯ Á[Q
B) SøÓ¢u£m\ ÷uøÁPÒ vmh®
C) ÷u]¯ FµP ÷Áø»Áõ´¨¦ vmh®
d) J¸[Qøn¢u FµP ÁÍºa]z vmh®

16. C¢v¯õÂß ¦v¯ ö£õ¸Íõuõµ ^ºv¸zu[PÒ öuõhº£õÚ ]» AÔUøPPÒ 
¤ßÁ¸©õÖ :

I. öÁÎ|õmk •u½k Em£h uÛ¯õº xøÓUS ö£›¯ £[S
II. \¢øu \UvPÎß «x AvP |®¤UøP²hß vÓ¢u ö£õ¸ÍõuõµzvØS ©õÖuÀ

III. AvP \¢øu ÷|õUS{ø»°ß Ai¨£øh°À ÷£õmiø¯ ÷©®£kzxuÀ.

  G¢u AÔUøP \›¯õÚx ?
A) I ©mk® \›   B) II ©mk® \›
C) I ©ØÖ® II ©mk® \›  d) I, II ©ØÖ® III ©mk® \›
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17. As per the Statistics of 2021, the highest production of the crops and the respective 
States are given below :

I. Sugarcane – Uttar Pradesh
II. Cotton – maharashtra

III. Rice – Punjab
IV. Wheat – Uttar Pradesh

Which one of the pairs is wrongly matched ?

A) I only B) II only C) III only d) IV only

18. As per the Statistics of the GST Council, the following States rank 1, 2, 3, 4 and 5 
in terms of GST Revenue Collection for November 2022.
A) maharashtra, Gujarat, Karnataka, Uttar Pradesh, Tamil Nadu
B) maharashtra, Tamil Nadu, Karnataka, Gujarat, Uttar Pradesh
C) maharashtra, Gujarat, Karnataka, Tamil Nadu, Uttar Pradesh
d) maharashtra, Karnataka, Gujarat, Tamil Nadu, Uttar Pradesh

19. Consider the following statements :
The montague Chelmsford Act of 1919
1. Provided for “dyarchy” in the provinces.
2. Introduced bicameralism at the National level.
3. Established Provincial Public Service Commission.

Which of the above statement/s is/are correct ?
A) 1 only B) 1 and 2 only C) 1 and 3 only d) 2 and 3 only

20. The phrase “Union of States” in Article 1 of the Indian Constitution indicates :

1. The Indian federation is not the result of an agreement by the units.

2. In India, the States can secede from the Union.
Which of the above is/are correct ?

A) 1 only B) 2 only C) 1 and 2 d) Neither 1 nor 2

21. With reference to the Citizenship Act, 1955, consider the following :
The modes of acquiring the citizenship of India are :
1. Birth
2. descent
3. Registration
4. Naturalisation

Which of the above is/are correct ?

A) 1 and 2 only    B) 1 and 4 only 

C) 1, 3 and 4 only   d) 1, 2, 3 and 4
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17. 2021Cß ¦ÒÎ ÂÁµ[PÎß £i, £°ºPÎß AvP EØ£zv ©ØÖ® A¢u¢u 
©õ{»[PÒ R÷Ç öPõkUP¨£mkÒÍÚ :

I. P¸®¦ – Ezvµ¨ ¤µ÷u\®
II. £¸zv – ©Põµõèiµõ

III. A›] – £g\õ¨
IV. ÷Põxø© – Ezvµ¨ ¤µ÷u\®

  G¢u ÷áõi uÁÓõP¨ ö£õ¸¢xQÓx?

A) I ©mk® B) II ©mk® C) III ©mk® d) IV ©mk®

18. âGìi PÄß]¼ß ¦ÒÎ ÂÁµ[PÎß£i, |Á®£º 2022 UPõÚ âGìi Á¸Áõ´ 
÷\P›¨¤ß Ai¨£øh°À ¤ßÁ¸® ©õ{»[PÒ 1, 2, 3, 4 ©ØÖ® 5Áx ChzvÀ 
EÒÍÚ

A) ©Põµõèiµõ, Sáµõz, Pº|õhPõ, Ezvµ¨ ¤µ÷u\®, uªÌ|õk

B) ©Põµõèiµõ, uªÌ|õk, Pº|õhPõ, Sáµõz, Ezvµ¨ ¤µ÷u\®

C) ©Põµõèiµõ, Sáµõz, Pº|õhPõ, uªÌ|õk, Ezvµ¨ ¤µ÷u\®

d) ©Põµõèiµõ, Pº|õhPõ, Sáµõz, uªÌ|õk, Ezvµ¨ ¤µ÷u\®

19. ¤ßÁ¸® AÔUøPø¯U PÁÛ²[PÒ :
 1919 Cß ©õs÷hS ö\®ìL÷£õºm \mh®

1. ©õPõn[PÎÀ “dyarchy” UPõP ÁÇ[P¨£kQÓx.
2. ÷u]¯ AÍÂÀ C¸\ø£ø¯ AÔ•P¨£kzv¯x.

3. ©õPõn ö£õx ÷\øÁ BønUSÊ {ÖÁ¨£mhx.
  ÷©÷» SÔ¨¤mh AÔUøPPÎÀ Gx \›¯õÚx ?

A) 1  ©mk®  B) 1 ©ØÖ® 2 ©mk®    
C) 1 ©ØÖ® 3 ©mk® d) 2 ©ØÖ® 3 ©mk®

20. C¢v¯ Aµ]¯»ø©¨¤ß Pmkøµ 1 CÀ EÒÍ “³Û¯ß BL¨ ì÷hmì” GßÓ 
ö\õØöÓõhº Cøu SÔ¨¤kQÓx :
1. C¢v¯U Tmhø©¨¦ Gß£x ©õ{»[PÎß J¨£¢uzvß ÂøÍÄ AÀ».
2. C¢v¯õÂÀ ³Û¯ÛÀ C¸¢x ©õ{»[PÒ ¤›¢x ö\À»»õ®.

  ÷©÷» EÒÍÁØÔÀ Gx \›¯õÚx ?

A) 1 ©mk®   B) 2 ©mk®    
C) 1 ©ØÖ® 2  d) 1 ©ØÖ® 2 CÀø»

21. Si²›ø©a \mh®, 1955&I¨ ö£õÖzuÁøµ, ¤ßÁ¸ÁÚÁØøÓU PÁÛ²[PÒ :
  C¢v¯õÂß Si²›ø©ø¯¨ ö£ÖÁuØPõÚ •øÓPÒ :

1. ¤Ó¨¦
2. Sk®£ ‰» ©µ¦
3. £vÄ
4. C¯ØøP©¯©õUPÀ

  ÷©ØTÔ¯ÁØÔÀ Gx \›¯õÚx ?

A) 1 ©ØÖ® 2 ©mk®  B) 1©ØÖ® 4 ©mk®  
C) 1, 3 ©ØÖ® 4 ©mk®  d) 1, 2, 3 ©ØÖ® 4
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22. Consider the statements regarding Amendment procedure of the Indian Constitution :
1. The State legislatures can initiate a proposal for Amendment of the Constitution.
2. An Amendment which affects the federal structure must be ratified by half of the 

State legislatures by special majority.
Which of the above is/are correct ?
A) 1 only B) 2 only C) 1 and 2 d) Neither 1 nor 2

23. Consider the following provisions under Fundamental Rights as enshrined in the 
Indian Constitution :
1. Equality of opportunity in public employment.
2. Right to freedom of speech and expression.
3. Equality before the law.

Which of the above Fundamental Rights is/are available only to Indian citizens ?
A) 1 only B) 2 only C) 1 and 2 only d) 1, 2 and 3

24. The recent Amendment of life Insurance Corporation (lIC) Act of 1956 in the 
Parliament was done by way of 

A) Appropriation Bill   B) Finance Bill 

C) money Bill  d) None of the above

25. Which among the following statements are not true with regard to the Kerala model 
of development ?
1. The Kerala model of development was initiated by the first Ministry of United 

Kerala.
2. The wealth and resource redistribution programmes have largely brought about the 

high material quality-of-life indicators.
3. High level of political participation and activism is a key element of Kerala model.
4. Quality of life indicators in Kerala are at par with developed nations. 
A) 1 and 2 B) 1, 2 and 4 C) 4 only d) 1 only

26. Given below are two statements marked (1) and (2). Find out which among the 
options are true with regard to the statements. 

1. In Kerala, there has been a large-scale withdrawal of workers from agriculture over the 
years, with the share of the workforce in agriculture and allied activities declining.

2. The contribution by construction and the services sectors to the economy are higher 
in Kerala.

A) Statement 1 and 2 are true and 2 is the correct reason for 1

B) Statement 1 and 2 are true but 2 is not the correct reason for 1

C) Only statement 1 is true

d) Both statements are false
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22. C¢v¯ Aµ]¯»ø©¨¤ß v¸zu |øh•øÓ öuõhº£õÚ AÔUøPPøÍ 
£›^¼UPÄ®.
1. Aµ]¯»ø©¨¤ß v¸zuzvØPõÚ •ßö©õÈøÁ ©õ{» \mh©ßÓ®  

öuõh[P»õ®.
2. Tmhõm] Pmhø©¨ø£ £õvUS® J¸ v¸zu® ]Ó¨¦ ö£¸®£õßø©¯õÀ ©õ{» 

\mh©ßÓ[PÎÀ £õv°ÚõÀ A[RP›UP¨£h ÷Ásk®.
  ÷©÷» EÒÍÁØÔÀ Gx \›¯õÚx ?

A) 1 ©mk®   B) 2 ©mk®    
C) 1 ©ØÖ® 2  d) 1 ©ØÖ® 2 CÀø»

23. C¢v¯ Aµ]¯»ø©¨¤À EÒÍ Ai¨£øh E›ø©PÎß RÌ ¤ßÁ¸® ÂvPøÍU 
PÁÛ²[PÒ :
1. ö£õx ÷Áø» Áõ´¨¤À \©zxÁ®.
2. ÷£a_ ©ØÖ® P¸zx _u¢vµzvØPõÚ E›ø©.
3. \mhzvß RÌ \©zxÁ®.

  ÷©ØTÔ¯ Ai¨£øh E›ø©PÎÀ Gx C¢v¯ Si©UPÐUS ©mk÷© 
EÒÍx?
A) 1 ©mk®   B) 2 ©mk®    
C) 1 ©ØÖ® 2 ©mk®  d) 1, 2 ©ØÖ® 3

24. ø»L¨ Cß`µßì Põº¨£÷µåß (lIC) \mh® 1956 CÀ, £õµõÐ©ßÓzvÀ 
\«£zvÀ ö\´¯¨£mh v¸zu® ö\´¯¨£mhx ? 
A) JxURmk (Appropriation) ©÷\õuõ B) Á¸Áõ´ (Finance) ©÷\õuõ  
C) £n (money) ©÷\õuõ  d) ÷©÷» GxÄ® CÀø»

25. ÷PµÍõ ©õhÀ BL¨ öhÁ»¨ö©sm öuõhº£õP ¤ßÁ¸® AÔUøPPÎÀ 
Gx Esø©¯À» ?
1. ÷PµÍ ©õhÀ öhÁ»¨ö©sm IUQ¯ ÷PµÍõÂß •uÀ Aø©a\PzuõÀ 

öuõh[P¨£mhx.
2. ö\ÀÁ® ©ØÖ® ÁÍ[PÒ ©Ö£QºÄ vmh[PÒ ö£¸®£õ¾® ÁõÌUøP 

SÔPõmiPÎß E¯º ö£õ¸Ò uµzøu öPõsk Á¢xÒÍÚ.
3. E¯º ©mh Aµ]¯À £[÷PØ¦ ©ØÖ® ö\¯À£õhõÚx ÷PµÍ ©õv›°ß •UQ¯ 

A[P©õS®.
4. ÷PµÍõÂÀ ÁõÌUøPz uµU SÔPõmiPÒ ÁÍº¢u |õkPÐUS Cøn¯õP 

EÒÍÚ. 
A) 1 ©ØÖ® 2 B) 1, 2 ©ØÖ® 4 C) 4 ©mk® d) 1 ©mk®

26. (1) ©ØÖ® (2) SÔUP¨£mh Cµsk AÔUøPPÒ R÷Ç öPõkUP¨£mkÒÍÚ. 
AÔUøPPÒ öuõhº£õÚ Â¸¨£[PÎÀ Gx Esø© Gß£øuU PshÔ¯Ä®. 
1. ÷PµÍõÂÀ, ÂÁ\õ¯® ©ØÖ® Ax \õº¢u ö\¯À£õkPÎÀ öuõÈ»õÍºPÎß 

£[S SøÓ¢x Á¸ÁuõÀ, £» BskPÍõP ÂÁ\õ¯zvÀ C¸¢x öuõÈ»õÍºPÒ 
ö£›¯ AÍÂÀ v¸®£¨ ö£ÖQßÓÚº.

2. ö£õ¸ÍõuõµzvÀ Pmk©õÚ® ©ØÖ® ÷\øÁz xøÓPÎß £[PÎ¨¦ ÷PµÍõÂÀ 
AvP®.

A) AÔUøP 1 ©ØÖ® 2 Esø©, ©ØÖ® 1 US 2 \›¯õÚ Põµn®
B) AÔUøP 1 ©ØÖ® 2 Esø©, BÚõÀ 1 US 2 \›¯õÚ Põµn® AÀ»
C) AÔUøP 1 ©mk÷© Esø©
d) Cµsk AÔUøPPÐ® uÁÓõÚøÁ
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27. Which among the following e-governance initiatives in the State of Kerala is related 
to local Self Government department ?

1. E-Rekha

2. Sakarma

3. Akshaya

4. FRIENdS

A) 1 and 2   B) 2 and 3 

C) 3 and 4   d) All of the above 

28. Which among the following statement is false with regard to the Kerala Bank ?

1. The Kerala Bank has the vision to become a Universal bank.

2. This is the second largest bank in Kerala in terms of business and number of 
branches.

3. The bank aims to become the backbone of the rural financial sector.

4. The bank passes on the refinance assistance to small entrepreneurs.

A) 1 and 2   B) 2 and 3 

C) 3 and 4   d) None of the above

29. Which among the following was not a provision of Kerala Agrarian Relations Act (1960) ?

1. Ceiling on land

2. Fixity of tenure

3. Compensation for acquisition

4. Freedom from eviction

A) 1 only   B) 1 and 2 only 

C) 3 only   d) All are true

30. Which among the following department act as Nodal Agency for Pradhan mantri 
Krishi Sinchayee yojana (Watershed Component) ?

A) department of Agriculture B) department of Revenue

C) local Self Government d) department of Finance

31. What is the context of implementation of ‘Subiksha Keralam’ Project ?

A) Floods 2018   B) Covid – 19

C) FAO directives   d) Food Policy of India Government

32. Which among the following is an apt example of administrative adjudication ?

A) Accountant General of Kerala B) Advocate General

C) Kerala Administrative Tribunal d) Kerala Public Service Commission
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27. ÷PµÍ ©õ{»zvÀ ¤ßÁ¸® C&PÁºÚßì •¯Ø]PÒ EÒÍõm]z xøÓ²hß 
öuõhº¦øh¯x

1. C&÷µPõ

2. \Pº©õ

3. Añ¯õ

4. L¤µsmì
A) 1 ©ØÖ® 2  B) 2 ©ØÖ® 3 
C) 3 ©ØÖ® 4  d) ÷©÷» EÒÍ AøÚzx®

28. ÷PµÍ Á[Qø¯¨ ö£õÖzuÁøµ°À ¤ßÁ¸® AÔUøP uÁÓõÚx ?

1. ÷PµÍõ Á[Q E»PÍõÂ¯ Á[Q¯õP ©õÖÁuØPõÚ öuõø»÷|õUS¨ £õºøÁø¯U 
öPõskÒÍx.

2. ÁoP® ©ØÖ® QøÍPÎß GsoUøP Ai¨£øh°À ÷PµÍõÂß 
CµshõÁx ö£›¯ Á[Q CxÁõS®

3. Á[Q¯õÚx Qµõ©¨¦Ó {vzxøÓ°ß •xöP¾®£õP ©õÖÁøu ÷|õUP©õPU 
öPõskÒÍx

4. ]Ö öuõÈÀ•øÚ÷Áõ¸US Á[Q ©Ö{v¯Î¨¦ EuÂø¯ ÁÇ[SQÓx.
A) 1 ©ØÖ® 2  B) 2 ©ØÖ® 3 
C) 3 ©ØÖ® 4  d) ÷©÷» GxÄ® CÀø»

29. R÷Ç öPõkUP¨£mkÒÍÁØÔÀ ÷PµÍ ÂÁ\õ¯ EÓÄa \mhzvß (1960) ÂvPÎÀ 
Gx CÀø» ?
1. {»zvÀ Ea\Áµ®¦
2. £uÂUPõ»® EÖvzußø©
3. øP¯P¨£kzxu¾UPõÚ CÇ¨¥k
4. öÁÎ÷¯ØÓzvÀ C¸¢x Âkuø»
A) 1 ©mk®   B) 1 ©ØÖ® 2 ©mk®    
C) 3 ©mk®   d) AøÚzx® \›

30. ¤ßÁ¸® xøÓPÎÀ Gx ¤µuõß ©¢v› U›æ ]g\õ° ÷¯õáÚõ (}º{ø»U 
TÖ) UPõÚ ÷|õhÀ Höáß]¯õP ö\¯À£kQÓx 
A) ÷ÁÍõsø©z xøÓ  B) Á¸Áõ´ xøÓ
C)  EÒÑº _¯ Aµ\õ[P® d) {vz xøÓ

31. ‘_¤ñõ ÷PµÍõ’ vmhzøu ö\¯À£kzxÁuØPõÚ `ÇÀ GßÚ ? 

A) öÁÒÍ® 2018  B) ÷PõÂm – 19
C) FAO EzuµÄPÒ   d) C¢v¯ Aµ]ß EnÄU öPõÒøP

32. ¤ßÁ¸ÁÚÁØÔÀ {ºÁõPz wº¨¦US J¸ ]Ó¢u Euõµn®
A) ÷PµÍõÂß PnUPõÍº öáÚµÀ B) AmÁ÷Pm öáÚµÀ
C) ÷PµÍ {ºÁõP wº¨£õ¯® d) ÷PµÍ ö£õx ÷\øÁ Bøn¯®
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33. Which among the following is not a project of Kerala Social Security mission ?

1. Snehapoorvam

2. Thalolam

3. Vayomithram

4. Nirbhaya

A) 1 only   B) 1 and 2 only 

C) 3 only   d) 4 only

34. Given below are two statements marked (1) and (2). Find out which among the 
options are true with regard to the statements.

1. The participation of women in Panchayathi Raj institutions in Kerala is higher than 
the all India average.

2. The literacy rate of women in Kerala is higher than literacy rate of men in the 
State.

A) Statement 1 and 2 are true and 2 is the correct reason for 1

B) Statement 1 and 2 are true but 2 is not the correct reason for 1

C) Only statement 1 is true

d) Both statements are false

35. In the case of disaster management in Kerala which among the following sequence 
is suggested for action as per statutory requirement ?

A) Preparedness, Response, Recovery, mitigation

B) Preparedness, Response, mitigation, Rehabilitation

C) Prediction, Preparedness, Response, mitigation

d) Prediction, Preparedness, Response, Rehabilitation

36. Which among the following is not a power of Kerala State Information Commission ?

A) Imposing penalties   B) Awarding compensation

C) Recommending disciplinary action d) None of the above

37. diabetes insipidus is due to the lack of hormone

A) Glucagon B) Insulin C) AdH d) Thyroxine

38. Pernicious anemia occurs when the intestine cannot properly absorb

A) Iron   B) Vitamin B12 

C) Protein   d) minerals
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33. ¤ßÁ¸ÁÚÁØÔÀ Gx ÷PµÍ \‰P £õxPõ¨¦ C¯UPzvß vmh® AÀ»

1. ]÷|P§ºÁ®

2. uõ÷»õ»®

3. Á÷¯õªzvµ®

4. {º£¯õ

A) 1 ©mk®   B) 1 ©ØÖ®  2 ©mk®    
C) 3 ©mk®   d) 4 ©mk® 

34. (1) ©ØÖ® (2) SÔUP¨£mh Cµsk AÔUøPPÒ R÷Ç öPõkUP¨£mkÒÍÚ. 
AÔUøPPÒ öuõhº£õÚ Â¸¨£[PÎÀ Gx Esø© Gß£øuU PshÔ¯Ä®.

1. ÷PµÍõÂÀ £g\õ¯zx µõä {ÖÁÚ[PÎÀ ö£sPÎß £[PÎ¨¦ AQ» 
C¢v¯ \µõ\›ø¯ Âh AvP©õP EÒÍx.

2. ÷PµÍõÂÀ ö£sPÎß PÀÂ¯ÔÄ ÂQu® ©õ{»zvÀ BsPÎß PÀÂ¯ÔÄ 
ÂQuzøu Âh AvP©õP EÒÍx.

A) AÔUøP 1 ©ØÖ® 2 Esø© ©ØÖ® 1US 2 \›¯õÚ Põµn®

B) AÔUøP 1 ©ØÖ® 2 Esø© ©ØÖ® 1US 2 \›¯õÚ Põµn® AÀ»

C) AÔUøP 1 ©mk÷© Esø©

d) Cµsk AÔUøPPÐ® uÁÓõÚøÁ

35. ÷PµÍõÂÀ ÷£›hº ÷©»õsø© Âå¯zvÀ, \mh¨§ºÁ ÷uøÁPÎß£i 
|hÁiUøP GkUP ¤ßÁ¸® Á›ø\°À £›¢xøµUP¨£kQÓx

A) u¯õº{ø», £vÀ, «m¦, uo¨¦

B) u¯õº{ø», £vÀ, uo¨¦, ©ÖÁõÌÄ

C) Po¨¦, u¯õº{ø», £vÀ, uo¨¦

d) Po¨¦, u¯õº{ø», £vÀ, ©ÖÁõÌÄ

36. ¤ßÁ¸ÁÚÁØÔÀ Cx ÷PµÍ ©õ{» uPÁÀ Bøn¯zvß AvPõµ® CÀø»

A) A£µõu® ÂvzuÀ  
B) CÇ¨¥k ÁÇ[SuÀ

C) JÊ[S |hÁiUøPø¯ £›¢xøµzuÀ 
d) ÷©÷» GxÄ® CÀø»

37. h¯õö£jì Cß]¤hì C¢u íõº÷©õß £ØÓõUSøÓ¯õÀ HØ£kQÓx

A) SÐ÷PõPß B) Cß_¼ß C) AdH d) øuµõUêß

38. Cøu ShÀ \›¯õP EÔg\ •i¯õ©À ÷£õS® ÷£õx ö£ºÛ]¯ì AÜª¯õ 
HØ£kQÓx

A) C¸®¦  B) øÁmhªß B12   
C) ¦µu®  d) PÛ©[PÒ
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39. Reservoir of KFd virus is

A) Pteropus B) Hard ticks C) Aedes d) Culex

40. According to WHO, Omicron is 

A) Highly divergent variant with a high number of mutations

B) low immune escape potential

C) low transmissibility

d) Variant of Interest (VOI)

41. Which statement is not true about Aardram mission ?

A) State level Accreditation Programme for Health Care Organization

B) One of the 4 missions under Navakerala mission

C) launched in February 2017

d) Primary focus is on SdG3. Good health and well-being

42. Which interventions significantly reduce the incidence and impact of stroke ?

i. Community intervention

ii. Life style modification

iii. Increased public literacy in the FAST method.

A) Only i and ii   B) Only i and iii 

C) Only ii and iii   d) All the above (i, ii, iii)

43. The level of pollution to which the organism and the local community were exposed 
is determined by

A) Biomagnification   B) Biomonitoring

C) Bioassessment   d) None of the above

44. Intranasal covid vaccine recipients demonstrated increased level of mucosal 
antibody

A) lgA B) lgd C) lgE d) lgm

45. Find the shortest wavelength present in the radiation from an x-ray machine whose 
accelerating potential is 40 kV. 
[Assume that the work-function is much less than the accelerating potential.]

A) 0.025 nm   B) 0.031 nm 

C) 0.021 nm   d) 0.041 nm

46. The unit of magnetic field strength (H) is

A) A/m B) A/m2 C) Am2/Kg d) Am2
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39. KFd øÁµêß ÷uUP®

A) ¨öh÷µõ£ì B) íõºk iUì C) Hiì d) Sö»Uì

40. WHO £i, Omicron Gß£x 

A) AvP GsoUøP°»õÚ ¤ÓÌÄPÐhß ªPÄ® ©õÖ£mh ©õÖ£õk

B) ÷|õö¯vº¨¦US u¨¤US® vÓß SøÓ¢ux

C) SøÓ¢u AÍÄ öuõØÖ® ußø©

d) ÷Á›¯ßm BL¨ Cßhöµìm (VOI)

41. Bºzµ® £oø¯¨ £ØÔ¯ G¢u AÔUøP Esø©¯À» ?

A) _Põuõµ¨ £õxPõ¨¦ {ÖÁÚzvØPõÚ ©õ{» AÍÂ»õÚ A[RPõµz vmh®

B) |Á÷PµÍ £o°ß RÌ EÒÍ 4 £oPÎÀ JßÖ

C) ¤¨µÁ› 2017 CÀ öuõh[P¨£mhx

d) •ußø© PÁÚ® SdG3 CÀ EÒÍx. |À» B÷µõUQ¯® ©ØÖ® |ÀÁõÌÄ

42. G¢u uø»±kPÒ £UPÁõuzvß {PÌÄ ©ØÖ® uõUPzøu Po\©õPU 
SøÓUQßÓÚ

i. \‰P uø»±k

ii. ÁõÌUøP •øÓ ©õØÓ®

iii. FAST •øÓ°À ö£õx GÊzuÔÄ AvP›zux

A) i ©ØÖ® ii ©mk®   B) i ©ØÖ® iii ©mk® 
C) ii ©ØÖ® iii ©mk®   d) ÷©÷» EÒÍ AøÚzx® (i, ii, iii)

43. E°›Ú® ©ØÖ® EÒÑº \‰P® GvºöPõÒÐ® ©õ_ AÍÄ C¨£i 
PnUQh¨£kQÓx

A) £÷¯õ÷©UÛL¤÷Påß B) £÷¯õ©õÛmh›[

C) £÷¯õAö\ìö©ßm  d) ÷©÷» GxÄ® CÀø»

44. ‰USÁÈ ÷PõÂm uk¨§] ö£Ö£ÁºPÒ C¢u ª³÷Põ\À Bßi£õi°ß 
AvP›zu AÍøÁU PõmiÚº

A) lgA B) lgd C) lgE d) lgm

45. GUì÷µ C¯¢vµzvß PvºÃa]À C¸US® ªPU SøÓ¢u Aø»}ÍzøuU 
PshÔ¯Ä®, Auß •kUPUTi¯ vÓß 40 kV BS®.  
[÷Áø»&ö\¯À£õk •kUQÂhUTi¯ vÓøÚU Põmi¾® ªPÄ® SøÓÁõP 
C¸¨£uõPU P¸x[PÒ.]
A) 0.025 nm   B) 0.031 nm 
C) 0.021 nm   d) 0.041 nm

46. Põ¢u¨¦» Á¼ø©°ß A»S (H) BS®. 

A) A/m B) A/m2 C) Am2/Kg d) Am2



060/23 – t 

a -18- 

47. In photoelectron spectroscopy, the kinetic energy (K.E.) of photoelectrons is best 
represented by which of the following expression ?

[Here B.E. is the binding energy of the core electrons, ϕ is the work function, and 
hν is the energy of the incident x-ray photons.]

A) K.E. = hν + B.E.  B) K.E. = hν – B.E. + ϕ 

C) K.E. = hν – B.E. – ϕ  d) K.E. = hν + B.E. – ϕ

48. The Royal Swedish Academy of Sciences awarded the Nobel Prize in Physics 2022 for

A) Quantum theory of optical coherence

B) development of methods to cool and trap atoms with laser light

C) discovery of the quantized Hall effect

d) Experiments with entangled photons

49. Which of the following is not a test for alkaloids ?

A) mayer test   B) Hager test

C) Wagner test   d) Salkowski test

50. If the critical temperature of a van der Waal’s gas is 300 K, the critical pressure is 
(Given that van der Waal’s constant, b = 0.02 dm3/mol and Gas constant,  
R = 0.08206 dm3 atm K–1mol–1)

A) 100 atm B) 50 atm C) 154 atm d) 110 atm

51. In the emission spectrum of Hydrogen, the series resulted from the transition of an 
electron from fifth energy level to first energy level is seen in

A) Ultraviolet region   B) Visible region

C) Infrared region   d) Far infrared region

52. Among the Nobel Prize winners of Chemistry in 2022, the person who receives the 
Nobel prize for second time is

A) Barry Sharpless   B) morten meldal

C) Anton Zeilinger   d) Carolyn Bertozzi

53. Name of the unpublished work of S.K. Pottekkatt

A) Vallikadevi  B) Prema Shiksha

C) North Avenue  d) Nile Diary

54. Who was the Sanskrit scholar who discovered the plays of Bhasa ?

A) K. A. Nilakanta Sastri   B) Jadunath Sarkar

C) S. Vaiyapuri Pillai   d) T. Ganapati Sastri
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47. L÷£õm÷hõG»Umµõß ìö£Um÷µõì÷Põ¤°À, L÷£õm÷hõG»UmµõßPÎß 
C¯UP BØÓÀ  (K.E.) ¤ßÁ¸® G¢u öÁÎ¨£õmhõÀ ]Ó¨£õPU SÔ¨¤h¨£kQÓx. 
[C[÷P B.E. Gß£x ø©¯ G»UmµõßPÎß ¤øn¨¦ BØÓÀ, ϕ Gß£x ÷Áø» 
ö\¯À£õk, ©ØÖ® hν Gß£x x-ray ¦øP¨£h[PÎß {PÌÄ BØÓÀ.] 
A) K.E. = hν + B.E.  B) K.E. = hν – B.E. + ϕ 
C) K.E. = hν – B.E. – ϕ  d) K.E. = hν + B.E. – ϕ

48. µõ¯À ìÃiè APõhª BL¨ \°ß\ì 2022 C¯Ø¤¯¾UPõÚ ÷|õ£À £›ø\ 
CuØS ÁÇ[Q¯x

A) JÎ°¯À Jzvø\Âß SÁõsh® ÷Põm£õk

B) ÷»\º JÎø¯U öPõsk AqUPøÍ SÎºÂUS® ©ØÖ® ]UP øÁUS® 
•øÓPøÍ E¸ÁõUSuÀ

C) SÁõsh® íõÀ ÂøÍøÁU PshÔuÀ

d) ]UQ¯ L÷£õmhõßPÐhß £›÷\õuøÚPÒ

49. ¤ßÁ¸ÁÚÁØÔÀ Gx BÀP»õ´kPÐUPõÚ ÷\õuøÚ AÀ»

A) ÷©¯º ÷\õuøÚ   B) ÷íPº ÷\õuøÚ

C) ÁõUÚº ÷\õuøÚ   d) \À÷PõÆìQ ÷\õuøÚ

50. Áõß öhº ÁõÀ Áõ²Âß •UQ¯ öÁ¨£{ø» 300 K GßÓõÀ, •UQ¯ 
AÊzu® _____ (Áõß öhº Áõ¼ß ©õÔ¼, b = 0.02 dm3/mol ©ØÖ® Áõ² 
©õÔ¼, R = 0.08206 dm3 atm K–1mol–1)  
A) 100 atm B) 50 atm C) 154 atm d) 110 atm

51. øímµáÛß EªÌÄ {Ó©õø»°À, G»Umµõß I¢uõÁx BØÓÀ ©mhzvÀ 
C¸¢x •uÀ BØÓÀ {ø»US ©õÖÁuõÀ HØ£k® öuõhº _______ CÀ 
Põn¨£kQÓx.

A) ¦Ó Fuõ ©sh»®  B) PõnUTi¯ £Sv

C) APa]Á¨¦ ©sh»® d) yµ APa]Á¨¦ ©sh»®

52. 2022 CÀ ÷Áv°¯¾UPõÚ ÷|õ£À £›_ öÁßÓÁºPÎÀ, CµshõÁx •øÓ¯õP 
÷|õ£À £›ø\¨ ö£ØÓÁº

A) £õ› åõº¨ö»ì  B) ÷©õºhß ö©ÀhÀ

C) Aßhß öá´¼äPº  d) P÷µõ¼ß ö£º÷hõê

53. S. K. ö£õmöhUPõmiß  öÁÎ°h¨£hõu £øh¨¤ß ö£¯º

A) ÁÀ¼Põ÷uÂ  B) ¤÷µ©õ ]ñõ

C) ÁhUS AöÁß³   d) ø|À øh›

54. £õ\õ |õhP[PøÍ Psk¤izu \©ìQ¸u AÔbº ¯õº ?

A) K. A. }»Psh \õìv› B) áx|õz \ºUPõº

C) S. øÁ¯õ¦› ¤ÒøÍ  d) T. Pn£v \õìv›
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55. Who is the author of Pluto Priyapetta Pluto ?
A) P. Balachandran   B) d. Vinayachandran
C) m. Govindan   d) P. K. Balakrishnan

56. Which institution has urged stock exchanges to set up Investor Risk Reduction 
Access (IRRA) platform ?
A) Supreme Court B) NITI Aayog C) SEBI d) RBI

57. In which Indian city the game of KhoKho originate ?
A) Pune B) mumbai C) Raipur d) mysore

58. Who invented sound effects in movies ?
A) Jack Foley   B) Eric m. C. Tigerstedt
C) James Cagney   d) lee de Forest

59. Who started ‘‘Panthibhojanam’’ in Kerala ?
A) Vaikunda Swamikal   B) Chattambi Swamikal
C) Sree Narayana Guru   d) Thycaud Ayya

60. Which is the HTml tag used to create a hyperlink ?
A) <link> B) <a> C) <b> d) <meta>

61. Which of the following are used to store data permanently ?
i. RAm
ii. Hard disk
iii. Cache memory
iv. dVd
A) i, ii and iii B) ii and iii C) ii and iv d) ii, iii and iv

62. Select the malicious software from those given below.
A) device driver B) Antivirus C) Firewall d) Keylogger

63. match the following :
1. Oracle a. Image editor
2. Facebook b. Search engine
3. Gimp c. mobile phone
4. Google d. Operating system

e. Social media
f. RdBmS

A) 1 – d, 2 – e, 3 – c, 4 – f
B) 1 – f, 2 – a, 3 – d, 4 – f
C) 1 – f, 2 – e, 3 – a, 4 – b
d) 1 – d, 2 – c, 3 – f, 4 – b
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55. ¦Ñm÷hõ ¤›¯õö£mhõ ¦Ñm÷hõøÁ E¸ÁõUQ¯Áº ¯õº ?
A) P. £õ»a\¢vµß  B) d. ÂÚ¯a\¢vµß
C) m. ÷PõÂ¢uß  d) P. K. £õ»Q¸ènß

56. Investor Risk Reduction Access (IRRA) uÍzøu Aø©UP G¢u {ÖÁÚ® £[Sa 
\¢øuPøÍ Á¼²Özv²ÒÍx ?
A) Ea\ }v©ßÓ® B) NITI B÷¯õU C) SEBI d) RBI

57. ÷Põ÷Põ ÂøÍ¯õmk G¢u C¢v¯ |PµzvÀ öuõh[Q¯x ?
A) ¦÷Ú B) •®ø£ C) µõ´¨§º d) ø©`º

58. vøµ¨£h[PÎÀ J¼ ÂøÍÄPøÍU Psk¤izuÁº ¯õº ?
A) áõU L÷£õ÷»  B) G›U G®.]. øhPºìöhm
C) ÷á®ì PõUÛ   d) ½ i L£õµìm

59. ÷PµÍõÂÀ ‘‘£¢v÷£õáÚ®’’ öuõh[Q¯Áº ¯õº ?
A) øÁSsh _ÁõªPÒ B) \mh®¤ _ÁõªPÒ
C) ÿ |õµõ¯n S¸  d) øuUPõk A´¯õ

60. øí¨£º¼[øP E¸ÁõUP¨ £¯ß£kzu¨£k® HTml ÷hU Gx ? 
A) <link> B) <a> C) <b> d) <meta>

61. ¤ßÁ¸ÁÚÁØÔÀ Gx {µ¢uµ©õPz uµøÁa ÷\ªUP¨ £¯ß£kQÓx?

i. RAm

ii. íõºm iìU

iii. ÷Pa ö©©›

iv. dVd
A) i, ii ©ØÖ® iii B) ii ©ØÖ® iii C) ii ©ØÖ® iv d) ii, iii ©ØÖ® iv

62. R÷Ç öPõkUP¨£mkÒÍÁØÔ¼¸¢x w[QøÇUS® ö©ßö£õ¸øÍz 
÷uº¢öukUPÄ®
A) iøÁì iøµÁº  B) BßiøÁµì C) L£¯ºÁõÀ d) R»õUPº

63. ¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zx :
1. BµUQÒ a. C÷©ä Gimhº
2. L÷£ì¦U b. \ºa Gßâß 
3. â®¨ c. ö©õø£À ÷£õß
4. TQÒ  d. B£÷µi[U ]ìh®

e. \‰P FhP[PÒ
f. RdBmS

A) 1 – d, 2 – e, 3 – c, 4 – f
B) 1 – f, 2 – a, 3 – d, 4 – f
C) 1 – f, 2 – e, 3 – a, 4 – b
d) 1 – d, 2 – c, 3 – f, 4 – b



060/23 – t 

a -22- 

64. Choose the Super Computer developed by Indian scientists.

A) PARAm B) SUmmIT C) mIRA d) SIERRA

65. Which of the following statement is/are correct about the POCSO Act, 2012 ?

The medical examination of a child in respect of whom any offence has been 

committed under this Act shall be conducted

i. In accordance with Section 164A of the Code of Criminal Procedure, 1973.

ii. The medical examination shall be conducted in the presence of the parent of the 

child or any other person in whom the child reposes trust or confidence.

iii. In the absence of parent or any other person in whom the child reposes trust or 

confidence, the medical examination shall be conducted in the presence of a woman 

nominated by the head of the medical institution.

A) Only i   B) Only i and ii

C) Only ii and iii   d) All of the above (i, ii and iii)

66. Which among the following is not a function of the National Council for Transgender 

Persons ?

A) To monitor and evaluate the impact of policies and programmes designed for achieving 

equality and full participation of  transgender persons

B) Issuing of certificate of identity, if a transgender person undergoes surgery to change 

gender

C) To redress the grievances of transgender persons

d) All of the above

67. Which of the following is not a consumer right mentioned under the Consumer 

Protection Act, 2019 ?

A) Assured that consumer’s interests will receive due consideration at appropriate 

fora

B) The right to seek redressal against restrictive trade practices

C) The right to be assured, wherever possible, access to a variety of goods, products 

or services at lowest price

d) The right to consumer awareness
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64. C¢v¯ ÂgbõÛPÒ E¸ÁõUQ¯ `¨£º PoÛø¯z ÷uºÄ ö\´¯Ä®

A) PARAm B) SUmmIT C) mIRA d) SIERRA

65. ÷£õì÷Põ \mh®, 2012  £ØÔ ¤ßÁ¸® TØÖPÎÀ Gx \›¯õÚx ?

 SØÓ® CøÇUP¨£mkÒÍ SÇ¢øu°ß ©¸zxÁ¨ £›÷\õuøÚ C¢ua \mhzvß 

RÌ |hzu¨£k®

i. SØÓÂ¯À |øh•øÓa \mh® 1973 Cß ¤›Ä 164A Cß £i.

ii. ©¸zxÁ¨ £›÷\õuøÚ¯õÚx SÇ¢øu°ß ö£Ø÷Óõ›ß •ßÛø»°À AÀ»x 

SÇ¢øu |®¤UøP AÀ»x |®¤UøP²hß C¸US® ¤Ó |£º •ßÛø»°À 

|hzu¨£k®.

iii. ö£Ø÷Óõº AÀ»x SÇ¢øu |®¤UøP AÀ»x |®¤UøP²hß C¸US® ÷ÁÖ |£º 

CÀ»õu {ø»°À, ©¸zxÁ¨ £›÷\õuøÚ ©¸zxÁ {ÖÁÚzvß uø»ÁµõÀ 

£›¢xøµUP¨£k® ö£sPÎß •ßÛø»°À |hzu¨£k®.

A) i ©mk®   

B) i ©ØÖ® ii ©mk®

C) ii ©ØÖ® iii ©mk®   

d) ÷©÷» EÒÍ AøÚzx® (i, ii ©ØÖ® iii)

66. ¤ßÁ¸ÁÚÁØÔÀ v¸|[øPPÐUPõÚ ÷u]¯ PÄß]¼ß ö\¯À£õk CÀ»õux 

Gx ?

A) v¸|[øPPÎß \©zxÁ® ©ØÖ® •Ê¨ £[÷PØ¤ØPõP ÁiÁø©UP¨£mh 

öPõÒøPPÒ ©ØÖ® vmh[PÎß uõUPzøu PsPõozx ©v¨¥k ö\´uÀ.

B) J¸ v¸|[øP £õ¼Úzøu ©õØÓ AÖøÁ ]Qaø\ ö\´x öPõshõÀ, Aøh¯õÍa 

\õßÔuøÇ ÁÇ[SuÀ

C) v¸|[øPPÎß SøÓPøÍ {Áºzv ö\´uÀ

d) ÷©÷» EÒÍ AøÚzx®

67. ¤ßÁ¸ÁÚÁØÔÀ Gx ~Pº÷Áõº £õxPõ¨¦a \mh®, 2019 ß RÌ SÔ¨¤h¨£mkÒÍ 

~Pº÷Áõº E›ø© AÀ»?

A) ~Pº÷Áõ›ß |»ß ö£õ¸zu©õÚ ©ßÓ[PÎÀ E›¯ £›^»øÚø¯¨ ö£Ö® GßÖ 

EÖv¯ÎUP¨£mhx

B) Pmk¨£kzu¨£mh ÁºzuP |øh•øÓPÐUS GvµõP £›Põµ® ÷uk® E›ø©

C) EzuµÁõu® ö£ÖÁuØPõÚ E›ø©, \õzv¯©õÚ Ch[PÎÀ, SøÓ¢u Âø»°À 

£À÷ÁÖ ö£õ¸mPÒ, AÀ»x ÷\øÁPøÍ AqSuÀ

d) ~Pº÷Áõº ÂÈ¨¦nºÄUPõÚ E›ø©
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68. Which of the following statement regarding the Right to Information Act, 2005 is wrong ?

A) An applicant making request for information shall not be required to give any reason 
for requesting the information

B) There shall be no obligation to give any citizen, information including intellectual 
property

C) The term ‘information’ includes information relating to any private body which can 
be accessed by a public authority under an existing law

d) None of the above

69. Which of the following statement is/are correct about the National Women’s 
Commission Act, 1990 ?

i. Petitions having a civil nature such as violations of contractual rights or obligations 
are not considered in the Commission.

ii. The Commission shall fund litigation involving issues affecting a large body of 
women.

iii. The Commission shall participate and advise on the planning process of  
socio-economic development of women.

A) Only i and iii   B) Only i and ii

C) Only ii and iii   d) All of the above (i, ii and iii)

70. Which of the following is correct regarding the Kerala lok Ayukta (Amendment) 
Ordinance, 2022 ?

A) The Ordinance accords the competent authority, to accept or reject the decision of 
the lok Ayukta

B) The Ordinance gives some extra power to lok Ayukta in matters connected with 
public servants

C) The Ordinance ensure accountability upon lok Ayukta for its decisions

d) The Ordinance expand the power and authority of the lok Ayukta in respect of 
contempt of itself

71. In the given question if + means – , × means /, – means + and / means ×  then find 
out the answer of the following question.
– 576 – 46 + 30 – 52

A) 620 B) 610 C) 530 d) 644

72. The ratio of the 21st term to the 30th term of an A.P. is 3 : 4. Then the ratio of the sum 
of the first 10 terms to the sum of the first 31 terms is

A) 115 : 682 B) 115 : 131 C) 5 : 31 d) 23 : 22



 060/23 – t

a -25- 

68. uPÁÀ AÔ²® E›ø©a \mh®, 2005 I ©Ö£›^»øÚ ö\´²® ¤ßÁ¸® 
AÔUøPPÎÀ Gx uÁÓõÚx ?

A) uPÁ¾UPõPU ÷Põ¸® Âsn¨£uõµº, uPÁø»U ÷Põ¸ÁuØS G¢uU Põµnzøu²® 
öu›ÂUPz ÷uøÁ°Àø»

B) G¢uöÁõ¸ Si©PÝUS® AÔÄ\õº ö\õzx EÒÎmh uPÁÀPøÍ ÁÇ[P 
÷Ási¯ Phø© CÀø»

C) ‘uPÁÀ’ GßÓ ö\õÀ, G¢uöÁõ¸ uÛ¯õº Aø©¨¦ öuõhº£õÚ uPÁÀPøÍ²® 
EÒÍhUQ¯x, Aøu J¸ ö£õx AvPõµ® ©ØÖ® uØ÷£õxÒÍ \mhzvß RÌ 
AqP»õ®.

d) ÷©÷» GxÄ® CÀø»

69. ÷u]¯ ©PÎº Bøn¯a \mh®, 1990 £ØÔ ¤ßÁ¸® TØÖPÎÀ Gx \›¯õÚx ?

i. J¨£¢u E›ø©PÒ AÀ»x Phø©PøÍ «ÖuÀ ÷£õßÓ ]ÂÀ ußø© 
öPõsh ©ÝUPÒ Bøn¯zvÀ £›^¼UP¨£hõx.

ii. ö£›¯ AÍÂ»õÚ ö£sPøÍ £õvUS® ¤µa\øÚPÒ öuõhº£õÚ 
ÁÇUSPÐUS Bøn¯® {v¯ÎUS®.

iii. ö£sPÎß \‰P&ö£õ¸Íõuõµ ÷©®£õmiØPõÚ vmhªhÀ ö\¯À•øÓ°À 
Pªåß £[÷PØÖ B÷»õ\øÚ ÁÇ[S®.

A) i ©ØÖ® iii ©mk®   B) i ©ØÖ® ii ©mk®

C) ii ©ØÖ® iii ©mk®   d) ÷©÷» EÒÍ AøÚzx® (i, ii ©ØÖ® iii)

70. ÷PµÍ ÷»õU B²Uuõ (v¸zu®) 2022 öuõhº£õP ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õÚx ?

A) ÷»õU B²UuõÂß •iøÁ HØP÷Áõ AÀ»x {µõP›¨£uØPõÚ uSvÁõ´¢u 
AvPõµzøu C¢u AÁ\µa \mh® ÁÇ[SQÓx.

B) ö£õx FÈ¯ºPÐhß öuõhº¦øh¯ Âå¯[PÎÀ ÷»õU B²UuõÄUS C¢u 
AÁ\µa \mh® ]» TkuÀ AvPõµ® öPõkUQÓx

C) ÷»õU B²UuõÂß •iÄPÐUS ö£õÖ¨÷£Ø£øu C¢u AÁ\µa \mh® EÖv 
ö\´QÓx

d) ußøÚ AÁ©vUS® ÁøP°À ÷»õU B²UuõÂß AvPõµzøu²® AvPõµ 
Áµ®ø£²® C¢ua \mh® Â›Ä£kzxQÓx

71. öPõkUP¨£mh ÷PÒÂ°À + GßÓõÀ – , × GßÓõÀ /, – GßÓõÀ + ©ØÖ® / GßÓõÀ
×  GÛÀ ¤ßÁ¸® ÷PÒÂUPõÚ £vø»U PshÔ¯Ä®.

– 576 – 46 + 30 – 52

A) 620 B) 610 C) 530 d) 644

72. J¸ A.P. °ß 21 Áx ö\õØPÐUS 30 Áx ö\õØPÐUS® Cøh°»õÚ ÂQu®  
3 : 4. ¤ßÚº •uÀ 10 ö\õØPÎß TmkzöuõøP ©ØÖ® •uÀ 31 ö\õØPÎß 
TmkzöuõøP°ß ÂQu®

A) 115 : 682 B) 115 : 131 C) 5 : 31 d) 23 : 22
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73. A 125 meters long train is moving at 30 km/h. It will cross a lamp post on the platform in

A) 12 sec. B) 13.5 sec. C) 15 sec. d) 5.1 sec.

74. Average mark of ten students of a class in certain subject is 45. However it is seen 

that 4 of the 10 students also have an average mark of 45. What will be the average 

mark of the remaining six students of the class ?

A) 30 B) 43 C) 50 d) 45

75. A shopkeeper sells a article at a profit of 10%. If he had bought it at 8% less and sold 

it for Rs. 8 more, he would have gained 20% profit. The cost price of the article is

A) Rs. 200 B) Rs. 2,000 C) Rs. 1,000 d) Rs. 125

76. A train for New delhi leaves every 50 minutes from a railway station. An enquiry 

clerk told a man that the train had already left 20 minutes ago and the next train will 

leave at 10 : 25 a.m. At what time was the information given to the man ?

A) 9 : 35 a.m. B) 9 : 25 a.m. C) 9 : 55 a.m. d) 9 : 45 a.m.

77. Raju left home and walked 3 km towards South, then turned right and walked 2 km 

and again turned right and walked 3 km. After this he turned left and walked 5 km. 

How many kilometers will he have to walk to reach his home straight ?

A) 10 km B) 5 km C) 6 km d) 7 km

78. Find the missing term.

4 3 2

8 9 36

16 27 24

8 9 ?

A) 12 B) 8 C) 27 d) 24

79. The next term of the following letter series will be :

CAW, HFT, mKQ, RPN,

A) UTy B) WUy C) WUK d) URJ

80. Find the odd number/letters/word from the given alternatives.

A) 6820 B) 7920 C) 3740 d) 4270
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73. 125 «mhº }Í•ÒÍ µ°À ©oUS 30 Q« ÷ÁPzvÀ |PºQÓx. Ax ÷©øh°À 
EÒÍ J¸ ÂÍUS P®£zøu PhUS® ÷|µ®.

A) 12 sec. B) 13.5 sec. C) 15 sec. d) 5.1 sec.

74. J¸ SÔ¨¤mh £õhzvÀ J¸ ÁS¨¤ß £zx ©õnÁºPÎß \µõ\› ©v¨ö£s 45. 
C¸¨¤Ý® 10 ©õnÁºPÎÀ 4 ÷£º \µõ\› ©v¨ö£s  45 GßÖ £õºUP¨£kQÓx. 
ÁS¨¤ß «u•ÒÍ BÖ ©õnÁºPÎß \µõ\› ©v¨ö£s GßÚ ?

A) 30 B) 43 C) 50 d) 45

75. J¸ PøhUPõµº J¸ ö£õ¸øÍ 10%»õ£zvÀ ÂØQÓõº.  8% SøÓÁõP Áõ[Q  
¹. 8 US AvP©õP ÂØÔ¸¢uõÀ 20% »õ£® Qøhzv¸US®. GÛÀ A¢u 
ö£õ¸Îß Âø»,

A) Rs. 200 B) Rs. 2,000 C) Rs. 1,000 d) Rs. 125

76. ¦x öhÀ¼US J¸ µ°À JÆöÁõ¸ 50 {ªh[PÐUS® J¸ µ°À {ø»¯zv¼¸¢x 
¦Ó¨£kQÓx. J¸ Â\õµøn A¾Á»º J¸Á›h®, µ°À HØPÚ÷Á  
20 {ªh[PÐUS •ß÷£ ¦Ó¨£mkÂmhuõPÄ®, Akzu µ°À  10 : 25 a.m. 
©oUS¨ ¦Ó¨£k® GßÖ TÔÚõº. G¢u ÷|µzvÀ A¢u |£¸US uPÁÀ 
öPõkUP¨£mhx

A) 9 : 35 a.m. B) 9 : 25 a.m. C) 9 : 55 a.m. d) 9 : 45 a.m.

77. µõáû Ãmøh Âmk öÁÎ÷¯Ô öuØS ÷|õUQ 3  km |h¢uõº, ¤ßÚº Á»x¦Ó® 
v¸®¤ 2  km |h¢uõº, «sk® Á»x¦Ó® v¸®¤ 3  km |h¢uõº. Cøu¯kzx 
Chx¦Ó® v¸®¤  5 km ÷|µõP uß Ãmøh Aøh¯ GzuøÚ km |hUP 
÷Ásk®.

A) 10 km B) 5 km C) 6 km d) 7 km

78. Âk£mh GÊzøu PshÔP.

4 3 2

8 9 36

16 27 24

8 9 ?

A) 12 B) 8 C) 27 d) 24

79. ¤ßÁ¸® GÊzxz öuõh›ß Akzu ö\õÀ :
CAW, HFT, mKQ, RPN,
A) UTy B) WUy C) WUK d) URJ

80. R÷Ç öPõkUP¨£mhøÁPÎÀ C¸¢x Âzv¯õ\©õÚ Gsøn PshÔ¯Ä®.

A) 6820 B) 7920 C) 3740 d) 4270
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 81. Provide a suitable question tag for the following statement :
  They are coming to the party,
 A)  Isn’t it ? B) Won’t they ? C) Aren’t they ? d) Will they ?

 82. Correct the following sentence :
  When I reached the station, the train already left.
 A) As I reached the station, the train already left.
 B) When I reached the station, the train left.
 C) When I reached the station, the train was already leaving.
 d) When I reached the station, the train had already left.

 83. Change the following sentence into the comparative degree :
  April is the hottest month of the year.
 A) April is the hotter month of the year.
 B) April is hotter than all other months of the year.
 C) April is a very hot month, compared to the other months.
 d) All other months are cooler than April.

 84. Fill up with the correct preposition :
  I prefer coffee ___________ tea.
 A) than B) to C) above d) upon

 85. Fill up with the correct tense of the verb given in bracket :
  What  would the girl do if she ____________ (miss) the train ?
 A) missed B) misses C) miss d) would miss

 86. Choose the correct synonym for the following word : 
  Extravagant
 A)  Wealthy B) Frugal C) lavish d) Thrifty

 87. Fill up with the correct phrasal verb :
  The public meeting was ___________ because of bad weather.
 A)  called in B) called off C) called out d) called away

 88. Rewrite the sentence using a single word instead of the phrase in italics :
  The teachers said the boy was incapable of being corrected, after he misbehaved 

repeatedly.
 A) Incorrigible B) Uncorrectable C) disobedient d) Unbearable

 89. Choose the correct option to fill in the blank :
  The school therapist ___________ students who have problems in studying.
 A) Councils B) Counsels C) Consuls d) Consults

 90. Choose the correct meaning of the phrase ‘‘to let the cat out of the bag”.
 A) Set the cat free   B) To clean out the bag

 C) To let something take its own course d) To reveal a secret
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 91. APµ Á›ø\¨£i ö\õØPøÍ ^º ö\´x GÊxP.
 A) SÔg], •Àø», ©¸u®, ö|´uÀ, £õø»
 B) SÔg], ö|´uÀ, £õø», ©¸u®, •Àø»
 C) •Àø», ©¸u®, ö|´uÀ, £õø», SÔg]
 d) SÔg], ö|´uÀ, £õø», •Àø», ©¸u®

 92. ÁËEa ö\õÀ AØÓ öuõhøµ GÊxP.
 A) BmÔÀ «ßPÒ AvP® B) Bzx» «ßPÒ AvP®
 C) BØÔÀ «ßPÒ AvP® d) BÔÀ «ßPÒ AvP®

 93. HØÓ uªÌa ö\õÀø» ÷|º¢öukUP. öáµõUì
 A) |P»P® B) ¡»P® C) Aa\P® d) Ag\»P®

 94. Remote Sensing – GßÓ B[Q»a ö\õÀ¾US {PµõÚ uªÌa ö\õÀø»z ÷uºÄ 
ö\´P.

 A) yµzøuU PnUöPkzuÀ B) öuõø» EnºuÀ    
 C) Qµõ©zxa `ÇÀ   d) öuõø»UPõm]

 95. £S£uzvÀ SøÓ¢uÍÄ C¸UP ÷Ási¯ EÖ¨¦PÒ
 A) £Sv, \¢v   B) Cøh{ø», \õ›ø¯   
 C) £Sv, ÂSv   d) ÂSv, \õ›ø¯

 96. ‘öPõÊ öPõ®£ØÓ öPõi÷£õ»’ – EÁø©¯õÀ ÂÍUP¨ö£Ö®     
  ö£õ¸zu©õÚ ö£õ¸øÍz ÷uº¢öukUP.
 A) ÷uõÀÂ B) öÁØÔ C) Cß£® d) Á¸zu®

 97. J¼ ÷ÁÖ£õhÔ¢x \›¯õÚ ö£õ¸øÍz ÷uºÄ ö\´P ?
 Cøµ CøÓ
 A) EnÄ PhÄÒ
 B) ¤nÄ  öu´Á®
 C) PÚÄ CøÓÁß   
 d) |ÚÄ •¸Pß

 98. ö\´ÂøÚa ö\õØöÓõhøµU PshÔP ? 
 A) SÇ¼ Bøh ö|´uõÒ B) Bøh SÇ¼ ö|´ÂzuõÒ
 C) Bøh ö|´uõÒ SÇ¼ d) Bøh SÇ¼ ȭÀ ö|´¯¨£mhx

 99. ö£õ¸ÍÔ¢x ö£õ¸zxP.
 £mi¯À – I £mi¯À – II
 1) |øP A) SØÓ®
 2) ö\¸ B) }º

 3) ©õ_ C) ]›¨¦
 4) ¦ÚÀ D) ÷£õº
  1 2 3 4
 A) C D A B
 B) D  C B A
 C) C D B A
 d) B A C D

 100. £Ç®£õhÀ – Gß£uß C»UPnU SÔ¨¦ u¸P.

 A) ÂøÚaö\õÀ B) ÂøÚö¯a\® C) £s¦zöuõøP d) ÂøÚ•ØÖ
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1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 80 vRqpOç S\Lh|°¥ CUYæ}x]sOU fo]u]sOoLp]  A\ÿa]\ÿ]q]¨OÐO. CT  
S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV oLi|o¾]sOç S\Lh|°tLeV 
BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (a), (B), (c), (d) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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